Section 6.5: Exercise 6
Commuting students. At a well-known university, 1/4
of the undergraduate students commute, and  1/3 of the graduate

students commute. One-tenth of the undergraduate students

drive more than 40 miles daily, and  1/6 of the graduate
students drive more than 40 miles daily. If there are twice

as many undergraduate students as there are graduate

students, then what fraction of the commuters drive more

than 40 miles daily?
Section 10.1: Exercise 104

104. Time to swing. The period T (time in seconds for one complete cycle) of a simple pendulum is related to the length L(in feet) of the pendulum by the formula 8T2 =TT2L. If a

child is on a swing with a 10-foot chain, then how long

does it take to complete one cycle of the swing?
Section 9.1: Exercise 108

108. Comparing wind chills. Use the formula from

Exercise 107 to determine who will feel colder:

a person in Minneapolis at 10°F with a 15-mph wind

or a person in Chicago at 20°F with a 25-mph wind.
1) Section 9.1: Exercises 12, 36, and 84

Find each root
12. -√25
36. √16n

84. 3√-27y36

_____________

             1000
Section 9.2: Exercises 22, 38, and 104

22. (-16)1/4
2. 25-3/2

104. (-27x9)1/3

Section 9.3: Exercises 6, 36,  and 94

6. √5-3√5

36.(3√2)(-4√10)
94. (3-2√7)(3+2√7
Section 9.4: Exercises 12, and 76

12.  √2
     √18
76. √6   . √14

     √7      √3 
Section 9.5: Exercises 16, 30, and 32

16. a2 - 40 = 0
30. √a-1-5=1
32. 3√w+1=6
Section 10.1: Exercises 80, and 96

80. w2= -225
96. √7x+29=x+3
Section 10.2: Exercises 10, and 42

10. x2 + 4x + 3=0

42. 9m2 + 16 = 24m

Section 10.3: Exercises 64 and 70

64. x2+x+√x2+x-2=0
70. b4 + 13b2 + 36 = 0
